Tuesday, October 16,2018
5:22 PM

saving journal files Page 1



KEY

Precalc 1.8A: Combinations of functions

Obj: To combine functions algebraically & graphically, evaluate
them, and find their new domain.

Hwk: 1.8A #1 & 3 (make table), 9 - 23 odd; Check answersl!
Quiz 1.6 - 1.8 is coming!

Do Now:
Find the average SAT score for each year, 2009 - 2013:
g;g 2009 ‘/82*‘{7.2;- Y432 - 479
;:?g Mg—:g 200! 482+479 473 - 474
s " 3
455 2. 477+4923+ 9 _.
= 2009 2010 2011 2012 2013 3 <= 973
—4—Reading 482 482 a77 485 485 .
~@—Math an 479 a7 477 476 JO’Z. ‘ILS— e 7 4% ‘{77 -
——Writing 482 475 46; a74 an3 3 - ‘/7’
Average SAT Scores within ACPS: 2009-2013 20/3: 9_3_5' 7 4 + 473 = 478
e
When done:
Simplify:
1.(x-2)+(x*-4) 2.(x*- 4)6/(2}2) 3.(x-2)(x*-4) 4. (xz:z— 4) = (x-2)
XZ+X-C| | x2-4-x+2 = |x3 —yx-ax2+8 | X =1 - (x+2u¢2)
X2-x-2 = Z2x2ax+8] | ¥ 70D
= Xt2Z

Today we are adding, subtracting, multiplying, and dividing functions -
just as we simplified the polynomials above.

Let f(x)=x-2; g(x)=x°-4

1.(x-2)+(x*-4) 2.(x*-4)-(x-2) 3.(x-2)(x*-4) 4 (x°-4)+(x-2)
f+g grif feg g+ f
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Let f & g be functions
Sum: (f +g)(x) = f(x) + g(x) € combine like terms

Difference: (f - g)(x) = f(x) - g(x) < distribute negative,
combine like terms

Product: (feg)(x) = (fg)(x) = f(x)eg(x) < FOILif 2 binomials

Quotient: @(x) = [;](x) .| g(x) # 0 < domain: g(x) # 0

— (9) g(x)’ .

THEN cancel factors
*Any restrictions on the domains of f & g and the resulting
function must be considered! (usually the SMALLEST or
MOST RESTRICTIVE DOMAIN)

Ex.1) f(x)=x> g(x)=vV4x -5

f _ f _ g _
o [ (g
£02) - (2)* fxy . XT Vs an xS
g(2)  (4(2)-5 AR HX-5 T9vs | |em T T x=
= Ix2 Jyx—<
=4 5 B |7 e
ERRE 3
Find the domain of each combined function.
Yx-5 >0 HX-S20 ( X*#0
gX >5 “4rzs % X#0
x> XZ %

D! ( 9y,00) D! L ¥,0°)
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Ex. 2) f:{(-2,1), (3,-5), (1, 7)},

9:{('2: 6)! (3r 9): (11 _7)}r
Find f + g £44
-2 I -2 6 -.2 | + 6 - 7
3 |-s 319 3 -64+49 =4
117 4 [ 747 =0

You can also evaluate functions and perform operations using a
graph.

Ex. 3) Using the graph below, find and graph h(x) = (f + g)(x)

Make a chart!
x | fx) | g | (F+ox
-2 -2 | 241 = -
- o) | oxl = |\
o - 0 -1 +0 = =\
| “| 2 -1+2 = |
2 | 2 | *+2 = 3
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Ex. 4) Use the graphs of f and g to find (fg)(x)

X f(x) g(x) | (fg)(x)
-2 undef. o, undef.
-/ o -/ (@)

(o) 1;:5 -2 =3

| 3 ! 3

2 | undef. | undef

Ex. ) Evaluate the indicated functions for
f(x)=x*-2and g(x) = 2x + 1

a) (f+9g)5)
£(5)= (5)*-2 =23
gLs) = als5)+1= 1
Liihrobe) = 25U =

c) (fg)(-2)

24

£0-2) =(-2)%-2 = y-2 = 2

9(-2) = 2(-2) %] ="3
£(2)-9(-2) =2°3 =
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b) (f -g)(@r)

£(2¢)= (2v)*-2 = urt-2
g(2r)= 2(2M +1 = Hr &
STAD

£(2r) - gl2r) = Hr*-2

STt

9i-4) = 2l-4) 4\ =-7

te4) 14 B

9(-4) -7

He2-yr-3

L-a) = (-4)%-2 = lb-2 = 1y




